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ENGLISH LANGUAGE

Directions (76-81) In the
following questions, sentences are given
with blanks to be filled in with an
appropriate word(s). Four alternatives
are suggested for each question. Choose
the correct alternative out of the four.

76. He spoke...... his travels.
(A) of (B) on
(C) about (D) along.

77. Books are a great SOUrce.........
happiness.
(a) of (B) for
(C) into (D) along.

78. Corruption should be......out
with the utmost vigour.
(A) talked (B) left
(C) rooted (D) brought.

79. The student......book still have,
can take it from me.

(A) that (B) whose
(C) which (D) his.

80. People from...... and near came to
‘see the final match of the
tournament yesterday.
(A) distance (B) long
(C) above (D) far.

81. I haven’t...... butter but I have a
lot of bread.
(A) alot of (B) little
(C) much (D) some.

Directions (82-84) In the
following questions, out of the four
alternatives, choose the one which best,
expresses the meaning of the given
word.

82, Disease

(A) fall (B) damage

(C) illness (D) injury.
83. Efficient

(A) clever (B) smart

(C) known (D) capable.
84. Conceal

(A) show (B) hide

(C) cancel (D) excuse.

Directions (85-87) In the
following questions, choose the word
opposite in meaning to.the given word.
85. Prominent

(A) notorious  (B) obscure

(C) wicked (D) hostile.
86. Corrupt

(A) honest (B) unclean

(C) heartless (D) hateful.
87. Destructive

(A) strctural (B) constructive

(C) wind speed (D) static.

Directions (88-89) In the
following questions, four alternatives are
given for the idiom/phrase. Choose the

alternative which best expresses the
meaning of the idiom/phrase.
88. To have second thoughts
(A) To change decision
(B) To plan carefully
(C) To take someone
(D) To reconsider.
89. Not my cup of tea
(A) refreshing drink
(B) A routine work
(C) Not what I like
(D) Not liked by me.

. Directions (90-91) : In the
following questions, a part of the
sentence is underlined. Below are given
alternatives to the underlined part at (A),
(B), (C) and (D) which may improve the
sentence. Choose the correct alternative,
90. We have to respect our elders.

(A) should (B) may
(C) can (D) better.
91. The teacher told that Monday
would be a holiday
(A) is telling (B) has told
(C) said (D) might tell.

Directions (92-93) : In the
following questions, out of the four
alternatives, choose the one which can

be substituted for the given
words/sentence.:
92. No longer in use

(A) absolsute (B) obsolete

(C) contemporary (D) remote.

93. Work for which one does not take
salary or payment

(A) remunerated (B) charge-sheet

(C) Complementary

(D) honorary.

Directions (94-95) : In the
following questions, groups of four
words are given, in each group, one
word is correctly spelt. Find the
correctly spelt word.

94. (A) Dictionery  (B) Dectionary
(C) Dictionary (D) Dictienary.

95. (A) Misterious (B) Mistereous
(C) Mysterious (D) Mystereous.

Directions (96-100) In the
following questions, you have one brief
passage with 5 questions following the
the passage. Read the passage carefully

T —




and choose the best answer to each
question out of the four alternatives.

Once there lived an old man who
had a bag of gold. He was folish. He dug
a hole in the ground and put the bag of
gold into the hole. Then he covered the
hole with a stone. He used to visit the
place nearly everyday. He would take
away the stone and put his fingers into
the hole. Then he would touch the gold
and feel very happy. ;

Oneday he took the stone away and
put his fingers into the hole. How angry
and sad he was when he discovered that
his treasure was not there. The old man
went to a friend and sadly told him the
story. His friend said. There is no reason
for you to be sad. Your gold was useless
to you. You still have the hole. You can
visit it whenever you like. All you have
to do is to imagine that your treasure is
still there.
96. The friend told the old man that

(A) he had not lost anything

(B) he would get back his gold

(C) he should complain to the police

(D) he should not have hidden it in

a hole.
97. The friend’s word possibly made
the old man :
(A) happy (B) angry
(C) relieved (D) excited.

98. The old man visited the place
where he had kept the gold
hidden
(A) everyday (B) once a week
(C) almost everyday
(D) as often as possible.

99. The old man was pleased when he
(A) used the gold |
(B) touched the gold
(C) added to the gold
(D) gave away the gold.

100. The old man hid the gold
(A) in a secret chamber
(B) in a bank locker
(C) underground D
(D) in an unknown place.
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(A) Speak of/about something 1
74 ¥ —to mention or describe
something/somebody.
e § R —
Witnesses spoke of a great ball of
flame.
(C) vfmmr 391f3 & fow much =1 wam
FI TIAATEF S THAF T
B g
(C) 7= Disease (Noun) 1 31 & —
T, &, =fY (an illness affecting
humans, animals or plants, often
caused by infection). :
(D) ¥r=z Efficient (Adjective) &1 31¢f
¥— wfgvE, 2w, WHA (capable;

85.

86.

87.

doing  something  well
thoroughtly).

(B) o= Conceal (Verb) &7 a1ef & _
forarn, @ W@ (to hide somebody/
something..

e ¥ yar A —

The paintings were concealeq
beneath a thick layer of plaster.

(B) =< Prominent (Adjective) %

and

ad t—wga, faftre, o™ g

(important or  well  known;
noticeable).

WX Obscure (Adjective) F1 319 .
#9 (not well known; unknown).

(A) 7€ Corrupt (Adjective) &1 32

t—vw, gwafa  (dishonest or
immoral).
F91 antonym honest g1}

(B) wI=% Destructive (Adjective) &
s E-famws, fawws, s
(causing destruction or damage).
I Constructive (Adjective) =
&Y ¢ — GHRIHS, T (having a
useful and helpful effect).

(A) Idiom to have second thoughts
1 @14 §—to change your opinion

. after thinking about something

89.

again.

(C) Idiom not somebody’s cup of
tea Fi i §-—not what somebody
likes or is interested in.



